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$QD� ,QHOLD�� ����������������� 3HQJDUXK� 3HPED\DUDQ 8WDQJ� 3DVFD� ,32�
7HUKDGDS�3HUWXPEXKDQ�3HUXVDKDDQ�7DKXQ����������
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3HQHOLWLDQ�LQL�EHUWXMXDQ�XQWXN�PHQJXML�SHQJDUXK�SHPED\DUDQ�XWDQJ�SDVFD�
,32� WHUKDGDS� SHUWXPEXKDQ� SHUXVDKDDQ�� 3HQHOLWLDQ LQL NDXVDWLI�� SRSXODVL� GDODP�
SHQHOLWLDQ� LQL� DGDODK� SHUXVDKDDQ� \DQJ� WHUGDIWDU� GL� %XUVD� (IHN� ,QGRQHVLD� WDKXQ�
����������� �� SHUXVDKDDQ� VHEDJDL� VDPSHO� SHQHOLWLDQ \DQJ� GLSHUROHK� GDUL�
ZZZ�LG[�FR�LG�� 0HWRGH� DQDOLVLV� \DQJ� GLJXQDNDQ� DGDODK� DQDOLVLV� UHJUHVL� OLQHDU�
EHUJDQGD�� +DVLO� GDUL� SHQHOLWLDQ� LQL� PHQXQMXNNDQ� EDKZD '(5� EHUSHQJDUXK�
VLJQLILNDQ�� \DQJ� DUWLQ\D� WLQJJL� WLQJNDW� OHYHUDJH GDSDW� GLEXNWLNDQ� PHQLQJNDWNDQ�
PRWLYDVL�SHUXVDKDDQ�PHQJJXQDNDQ�GDQD�,32�XQWXN�PHPED\DU�XWDQJ�GDQ� VSUHDG
EXQJD WLGDN� EHUSHQJDUXK� VLJQLILNDQ�� \DQJ� DUWLQ\D� WLQJJL� WLQJNDW� VSUHDG EXQJD�
WLGDN� GDSDW� PHQMHODVNDQ� PRWLYDVL� SHUXVDKDDQ� PHQJJXQDNDQ� GDQD� ,32� XQWXN�
PHPED\DU�XWDQJ��+LJK�UHWLULQJ WLGDN�EHUSHQJDUXK�VLJQLILNDQ��\DQJ�DUWLQ\D�WLQJJL�
SHPED\DUDQ� XWDQJ� WLGDN� GDSDW� PHPEXNWLNDQ� SHQLQJNDWDQ� SHUWXPEXKDQ�
SHUXVDKDDQ� GDQ ORZ� UHWLULQJ WLGDN� EHUSHQJDUXK� VLJQLILNDQ�� \DQJ� DUWLQ\D� UHQGDK�
SHPED\DUDQ�XWDQJ�WLGDN�GDSDW�PHQMHODVNDQ�SHQLQJNDWDQ�SHUUWXPEXKDQ�SHQMXDODQ�
3267,32� WLGDN� EHUSHQJDUXK� VLJQLILNDQ�� \DQJ� DUWLQ\D� NRQGLVL� SDVFD� ,32� WLGDN�
GDSDW�PHPEXNWLNDQ�NLQHUMD�RSHUDVL�MDQJND�SDQMDQJ�OHELK�EDLN�GDQ�3267,32
+5
WLGDN�EHUSHQJDUXK�VLJQLILNDQ��\DQJ�DUWLQ\D�UHDNVL�NRQGLVL�SDVFD�,32�GHQJDQ�WLQJJL�
WLQJNDW� SHPED\DUDQ� XWDQJ� WLGDN� GDSDW� PHPEXNWLNDQ� NLQHUMD RSHUDVL� MDQJND�
SDQMDQJ�OHELK�EDLN�
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